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L 2021 (A) Roll No: A
‘ INTERMEDIATE PART-II (12" CLASS)
MAJHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours
GROUP-1 SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any eight parts. 8x2=16
(i) Determine whether the function f(x) = sinx + cosx is even or odd.
(i) With out finding the inverse, state domain and range of /' where 7 (x)= - "l x#4
X —
- . x° =8 ; ; ;
(iii)  Evaluate the limit  Lim ———— by using algebraic techniques.
*22 x4+ x~6
g
(iv)  Express the Limit Lin’(z) (1+2x2 )"2 in terms of e.
x >
s
(v)  Find the derivative of (x + 4)3 by definition.
(vi)  Differentiate x* — —12— wrt x'.
X
(vii) If y={n(x++/x*+1) then find ?
(viii) If y=x"-¢™ thenfind y,
(ix) If x=1-¢* and y=3r>-2¢ then find L and @
dt dt
(x) If f(x)=4-x* xe(-2,2) then find interval in which ) (%) is increasing or decreasing.
. d o s 1
%l Prove that —(tan™ x) =
(xi) (a0 = —
(xii) If y=sin3x then find y,
3. Attempt any cight parts. 8x2=16
(i)  Using differentials find Y and Qs N 2yt =16
dx dy

(i1) Evaluate J.cosBx sin 2x dx

S
(i)  Evaluate - sy

J4 +x
(iv)  Evaluate |x fax‘elx
(v) Evaluate (Tl dx, a>b

JX-a)(x-b)

T
(vi)  Evaluate R

x“+9

0
(vii)  Solve the differential equation ydx + xdy = 0

(viii) Evaluate [secx dx

(ix)  Find K so that the line joining 4(7, 3), B(K, -6) and the line joining C'(—4,5), D(-6,4)
are parallel.

(x) Find whether the given point P(5, 8) lies above or below the line 2x —3y + 6 =10

(xi)  Determine value of P such that the lines 2x — 3y —1=0, 3x — y—5=0 and
3x + Py + 8 = 0 meet at a point. '

(xii)  Find the lines represented by 3x* + 7xy + 2y* = 0

P.T1.0.



(2)
4. Attempt any nine parts. 9x2=18
(1) Graph the solution set of linear inequality in xy —plane 3x -2y 26
(11) Find the equation of a circle with ends of a diameter at (-3, 2) and (5, —6)
(iii)  Find the centre and radius of a circle 4x*+ 4y —8x+12y-25=0
(iv) Write down the equation of normal to the circle P+ y?=25at (4,3)
(v) Find the vertex and directrix of x*=4(y —1)
(vi) Write the equation of parabola with focus (-3, 1) and directrix x -2y -3 =0
(vii)  Find the equation of hyperbola with Foci (35, 0) and vertex is (3, 0)
(viii)  Find the magnitude of vector u=1i+ J
(ix) Find a unit vector in the directionof y=i+2/ -k
(x) Find the direction cosines of v =3i — j + 2k
(x1) If u=[2,-3,1], v=[2,4,1] find the cosine of angle & between u and ¥
(xii) If axb=0 and a-b =0, whatconclusion can be drawn about g ok b?
(xiii) Find @ sothati- j+k, i~2j-3k and 3i-aj+ 5k are coplanar.
SECTION-II
NOTE: Attempt any three questions. 3x10=30
1254 5— +7
i \/x ; x#2
S(a If f(x)= ¥ -2 Fin@the valué of K so that f is continuous at x =2
K \ X2
(b) If x=acos’d, y=bsin’ @, shoy that a-g}riertanQ:O
x
6.(a)  Evaluate the integral J‘————{_Z— dx
: ST % COS X
(b)  Find the conditien that the'lines y = mx +¢|, y =myx +¢,, y=myX + ¢3 are concurrent.
%
7. (a) Evaluate Jsm x2 dx
cos” x
0
(b) Maximize f(x, y)=2x + 5y subjectto constraints 2y -~ x <8, x-y<4, x2 0, y=0
8.(a)  Write equations of two tangents from (2, 3) to the circle x2+y*=9
(b) By using vectors prove that cos( a + #) = cosa cos § — sina sin 3
9(a) If y=(cos” x)?, prove that (1 - % Yy, —xpy—2=0
(b)  Show that an equation of parabola with focus at (acosa, asina) and directrix

wwww.arifrao.com

xcosa + ysina +a=01is (xsina — yeosa )? = 4a (xcosa + ysina)

14-2021(A)-18000 (MULTAN)
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Paper Code 2021 (A) Roll No:

Number: 4191 | INTERMEDIATE PART-II (12" CLASS)

MO THEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

(Q.No.1
() If f(x)=4x+4 then F(x*+4)is equal to:
(A) yx2 +8 (B) x> -8 (C) fx -8 (D) x> -8

(2) The function f(x)= 2 + 3x
3) lim L) = JS(@)

is not continuous at: (A) x=-3 (B) x= “"/3 (C)x=1 D) x=0

LI Al S (A) ['(x) B) f(a)y (©) f(0) D) ['(x-a)
% , ] 2 1
4 f(x)=x7?,then f/(8)=__ (A) > B) 3 ©) 3 (D)3
x?+ 2x? 2 o — 2 1 -1
5 The derivative of ———— Is: A) — B) — ) <% D) —
(5) he derivative o 3 equals (A) > (B) > (<) ». (D) !
6) If f(x)=tan"'x, then f'(cotx) isequal to:
(A) : 5 (B) sin? x (C) cos’m (D) sex*x
1+ x
(N flx+6x)=__
(A) f(x)dx B) f(x) - f(x)dx (C)/(x)+ f'(x)dx (D) f(x)dx
a
® -
xJx2=1
(A) atan™' x (B) —a cose€l' x%c (Cy—asec'x+¢ (D) x sec” x + ¢
a
(9)  When the expression ya’ — x* involvestin integration substitute, is:
(A) x=asinf (B) a sec@ (C) a tand (D) a =sind
3
1 2 -2 - 14
10 J dx = A) = B2 ©ZF @mZI
()me___ ()ﬁ ()H ()2 ()2
(11)  Which of the following¥s not a solution of the system of inequalities
x+2y<8, 2x 2@y R0, W+ y =2 x20, y=20
(A) (L, 0) (B) (8,0) (C) (0, 4) (D) (3,0)
(12)  When axes are transfated, the coordinates of the point (-6, 9) are changed into (-3, 7) ,
find the point thgough which axes are translated:
(A) (€ (B) (3,-2) © (7,-3) (D) (=9,6)
(13)  ThC%eguation of horizontal line passing through (-5, 3) is:
(A) x+5=0 (B) -5x+3y=0 (C)3x-5y=0 D)yy-3=0
(14) A line passes through (1, 5)and (%, 7) has aslope k, the values of k is:
(A) —1 and 2 (B) 3and -2 (C) 2, -3 (D) -1, =2
(15) The focus of the parabola y? = 4gx is:
(A) (a,0) (B) (0, a) (€) (-a.0) (L) (0, ~a)
2 e
L 5 2 -5 Vs
(16) The eccentricity of =— — x* =1 equals: A) — {(B) — <€) — O —
4 &7 vs5 2 2
(17)  Conic are the curves obtained by cutting a right circular cone by:
(A) Sphere (B) A line (C) A plane (D) A curve
(18) If a and b are two non-zero vectors, then @ x b =
(A) —bxa B)a-b (C) —ax-b D) bxa
(19)  Angle between the vectors i+ j, i ~ j is: (A) (B)i; (C)% (D) 0
(20)  Projection of a along b is:
(A) a-b B)a-b ©a-b (D) é-b
14(0bj)(¥€)-2021(A)-18000 (MULTAN)




wwww.arifrao.com ny
.| Paper Code 2021 (A) Roll No: /p 2
B —— 4193 INTERMEDIATE PART-II (12" CLASS) e
M@THEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) Conic are the curves obtained by cufting a right circular cone by:
(A) Sphere (B) A line (C) A plane (D) A curve
(2) If @ and b are two non-zero vectors, then ax b =
(A) ~bxa B)a-b () -ax-b (D) bxa
(3)  Angle between the vectors i+ j, i~ j is: (A) = (B) % (©) % D) 0

(4) Projection of @ along b is:
(A) a-b (B)a-b ©) a-b (Dya-b
(5) If f(x)=+/x+4 then f(x>+4) isequal to:
(A) x?+8 B) yx? -8 ©) Jx-8 ) % 8

(6) The function f(x) = 2+ 3x
@ tim L3 =S@)

is not continuous at: (A) x =-3 (B) x& ‘% C)x=1 D)x=0

#___# A) f'(x) ®) (@  ©F70) D) f(x-a)

x—=a x—-a
() f(x)=x, then f'(8)= P B: ©F O3
2
s ¥ D 2 =%, 1 e
(9)  The derivative of% equals: W= ®F O O3
(10) If f(x)=tan'x, then f'(cotx) is equalto:
(A) 12 (B) sin® x (C) cos® x (D) sex’x
I+ x
(1) f(x+6x)=
(A) f'(x)dx (B) (F N (x)dx (C) f(x)+ f'(x)dx (D) f(x)dx
a
(12) —dx =
J.xw}xz—l
(A) atan™'x (B) —a cosec”'x + ¢ (C) —asec'x+¢ (D)—l—sec_gx+c
a

(13) When the gxpréssiom/a® — x* involves in integration substitute, is:

(A) x =g smd (B) a secd (C) a tané (D) @ =siné
3
1 2 -2 - T
(1) [ gar= W= ®»= ©F o
g JO — x2 T pid 2 2
(15)  Which of the following is not a solution of the system of inequalities
x+2y<8, 2x-3y<6, 2x+ y=2 x=20, y>0
(A) (1, 0) (B) (8,0) ©) (0, 4) (D) (3,0)

(16)  When axes are translated, the coordinates of the point (-6, 9} are changed into (-3, 7) .
find the point through which axes are translated:

(A) (=3,2) B) (3.-2) (€) (7,-3) D) (-9,6)
(17)  The equation of horizontal line passing through (-3, 3) is:
(A) x+5=0 (B) ~5x +3y=0 (C) 3x =5y =0 (D) y-3=0
(18) A line passes through (1, 5)and (%, 7) has a slope &, the values of & is:
(A) =1 and 2 (B) 3and -2 () 2, -3 D) -1, -2
(19) The focus of the parabola y2 =4ax is:
(A) (a,0) B) (0, a) (C) (=a,0) D) (0, —a)
LR _ -4 2 -5 Js
(20) The eccentricity of 7 x° =1 equals: (A) - (B) 7 ) 7 (D) 2

14(Ob))(VET¥)-2021(A)-18000 (MULTAN)
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) Paber Code 2021 (A) Roll No: l/, )

Number: 4195 INTERMEDIATE PART-II (12" CLASS)

MAMHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) When the expression \/ a’ - x* involves in integration substitute, is:
(A) x=asin@ (B) a secd (C) a@ tan @ (D) @ =sind

: ’ 1 2 -2 -7 bia
2 dx = A) = B) — C) — D) —
@ me"*‘ w= = OF of
(3)  Which of the following is not a solution of the system of inequalities

x+2y<8, 2x-3y<6, 2x+ypy=2 x20, y20
(A) (L 0) (B) (8,0) (€ (0,4) (D) (3,0)

(4)  When axes are translated, the coordinates of the point (-6, 9) are changed into (—3s7) .
find the point through which axes are translated:

(A) (=3,2) (B) (3,-2) © (7,-3) (D9, 6)
(5)  The equation of horizontal line passing through (-3, 3) is:
(A) x+5=0 (B) =5x+3y=0 (C) 3x =5y =0 D)yy-3=0
(6) A line passes through (1, S)and (%, 7) has aslope &, the values gf & is:
(A) —1 and 2 (B) 3and -2 ) 2, -9 (D) -1, -2
(7)  The focus of the parabola y* =4ax is:
(A) (a,0) (B) (0,a) © (=g 0) (D) (0, —a)
2 : [z
i -V 2 £7 2 "-"\/; S
8 The eccentricity of = — x° =1 equals: A= B) — (©) (D) —
(8) ¥ ok q (A) 7 (B) - 5 5
(9) Conic are the curves obtained by cutting a righfycireular €éne by:
(A) Sphere (B) A line (C) A plane (D) A curve
(10) If a and b are two non-zero vectors, tiien @ x b=
(A) —bxa B)a-b (C) —ax-b (D) bxa
(11)  Angle between the vectors i+ jVif jus: (A) & (B) % (C)% (D) 0
(12) Projection of g along b is:
(A) a-b B - & (©a-b (D) a-b
(13) If f(x)=+x+4 then™N(x*+ 4) is equal to:
(A) Jx? + 8 B) /x> -8 ©) Jx -8 (D) x* -8
(14) The functi®fng (x) = 2_2_3_{ is not continuous at: (A) x=-3 (B) x= —% (Cyx=1 (1) x=0
X b
a9 tim L@ (&) f'(x) B) (@) (© S(0) @) [ (x-a)
g ¥ , 1 B 1
(16) f(x)=x73, then f'(8)=__ GO ) 3 (©) 3 (D)3
X+ 2x° 2 -2 1 -1
17)  The derivative of - Is: A) — B) — C)— O —=
(17) he derivative o = equals (A) = (B) = (©) - (D) 2
(18) If f(x)=tan"'x, then f'(cotx) isequal to:
(A) 1 : (B) sin? x (C) cos® x (D) sex’x
1+ x°
(19) f(x+ox)=
(A) ' (x)dx (B) f(x) - f'(x)dx ©) f(x)+ f(x)dx (D) f(x)dx
(20) I#dx =
x\/')c2 -1
(A) atan™ x (B) —a cosec”'x + ¢ (C) —asec'x+¢ (D) L sec” x +¢
a
14(0Obi)(YEVEVE)-2021(A)-18000 (MULTAN)
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Paper Code 2021 (A) Roll No: %?Z]
| Number: 4197 INTERMEDIATE PART-II (12" CLASS) Lo
M@THEMATICS PAPER-II TIME ALLOWED: 30 Minutes

GROUP-I OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) If f(x)=tan"'x, then f'(cotx) isequal to:
(A) 1 5 (B) sin® x (C) cos® x (D) sex’x
1+ x
2) f(x+dx)=
(A) f'(x)dx B) f(x) - f'(x)dx ©) f(x)+ fi(x)dx (D) f(x)dx
G) |——dx=
J.x\/xz—l
(A) atan™ x (B) —a cosec”'x + ¢ (C) —a sec” ' x+c (@) é sec x + ¢

4 When the expression \jaz — x? involves in integration substitute, is:

(A) x=asinf (B) a sec@ (C) a tan@ (D) a =sin@
: 1 2 . 7 bid
® | dr=____ w2 TN DI
749 - %2 T /4 2 2
(6) Which of the following is not a solution of the system of inegualities
x+2y<8, 2x-3y<6, 2x+ y=2 x20, /=0
(A) (1, 0) (B) (8, 0) (C) (0, 4) D) (3,0)

(7)  When axes are translated, the coordinates of the pdint(=6,,9) are changed into (-3, 7) ,
find the point through which axes are tramslated:

(A) (-3,2) (B) (3,-2) ©) (7,-3) (D) (-9, 06)
(8)  The equation of horizontal line passing through, (=35, 3) is:
(A)x+5=0 (B) —5x%. 3y =Y (CY3x-5y=0 (D) y=-3=0
(9) A line passes through (1, 5)andg{%y,7 ) *has a slope &, the values of £ is:
(A) =1 and 2 (B)" 3fand™=2 (C) 2, —3 » -1, -2
(10) The focus of the parabola y2 =4a% is:
(A) (a,0) B) (0, a) (€) (—a,0) D) (0, -a)
2
o O\ -2 2 —5 J5
(11) The eccentricity of £— =" = 1 equals: (A) —= B) = Q) —— D) —
A q ) % ) 5 ) = )
(12)  Conic are the cutves'obtained by cutting a right circular cone by:
(A) Sphere (B) A line (C) A plane (D) A curve
(13) If g and™b, are two non-zero vectors, then g x b =
(A) —bwtg B)a-b (C) —ax-b (D)bxa
(14)  Angle between the vectors i+ j, i — j is: A 7 (B) % (©) % (D) 0

(15) Projection of g along b is:
(A) a-b (B) a—-b ©a-b (D) a-b
(16) If f(x)=+x+4 then f(x*+4) isequalto:

(A) /x* + 8 (B) «fx* -8 (C) Jx -8 (D) x* -8

(17) The function f(x) = kil is not continuous at: (A) x=-3 (B) x = —% C)x=1 O)x=0
a9 Jim LMD W@ B @ © SO ®fx-a)
19 f(x)=x7, then f'(8)=_____ w: ®I ©; O3
. v 2 e 2 oL ol
(20)  The derivative of 3 equals: (A) 2 (B) 2 (O " (D) -~

14(Obj)(PETETETN)-2021(A)-18000 (MULTAN)
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b 2 s 2021 (A) Roll No; / 6/
| INTERMEDIATE PART-II (12" CLASS) -

MASHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours
GROUP-II SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any eight parts. 8§ x2=16

(1) Express perimeter P of a square as a function of its area 4.

@ If f(x)=yx+1,g(x)=— find fog(x), gof (x)

2
X - x
(ili)  Evaluate Lim
x=-1 x +1
. . 1—cosx
(iv)  Evaluate Lim ————

x—=0 Sin2 X

(V) Differentiate (J— —LJ wrt x
Jx

(vi)  Find j—y it x=1-¢% y=3*-2:
%

1
1+ x

(vii) Prove that —d—( tan” x) =
dx 2

(viii) Find L4 il p=xvosy

dx
; . ody . X
X Find — if = —
(1) dx Y Inx

x)  Find f'(x) if f(x)=eV*!

¥

(xi) Find y, if y= e
(xi1)  Find Maclaurin series for sinx.
3. Attempt any eight parts. 8x2=16

(1) Use differentials to find dy and ogif y = x>+ 2x, «x changes from 2 to 1.8.

) o

G Tmd YR
bV
o 2

(i)  Find i @
J1+a

. (iv)  Find st Wi dx

J\/®
(v)  Find __}/i_ dx
¢SINX + COS X

(vi)  Find |x Znx dx

(vii)  Solve the differential equation (e* + ¢™* )? =e*—e "
x

w
(ill) Find Jcosz g sind 4o

0
(ix) By means of slope, show that (-1,-3),(1,5),(2,9) lie on the same line.

(x) Check whether the point (-7, 6) lies above or below the line 4x + 3y-9=0
(xi)  Check whether the lines 12x +35y — 7 =0 and 105x - 36y +11=0 are parallel or perpendicular.

(xii) Express 15y —8x + 3 =0 in normal form.

P.T.O.




% wwww.arifrao.com

; (2)
4. Attempt any nine parts. 9x2=18 ®

(1) Graph the solution setof 3x -2y > 6

(i) Find an equation of the circle with ends of a diameter at (-3, 2) and (5, -6)

(iiiy  Find the radius of the circle 5x* + 5y* + 14x + 12y =10 =0

(iv)  Find the length of the tangent drawn from the point (-5, 4) to the circle
5x2+ 5y —10x +15y - 131=0

(v) Find the focus and directrix of the parabola x* = 4(y —1)

2 2
. . . .. Ly X
(vi) Find the foci and eccentricity of =— — — =1

9
(vil)  Write down the equation of tangent to 3x2 432+ 5x - 13y +2=0 at (1, 1%)
(viii)  Find the magnitude of the vector i = / + 7
(ix) Find a unit vector in the direction of v = 2i - j
(x) Let y=3i—§+2k,ﬂz5§~i+3]g find v - 3w
(xi)  Find a sothat |@i+ (@ +1)j+2k|=3
(xii)  Find the direction cosines of v =3/ — j + 2k
(xiii)  Find a vector of lengths 5 in the direction opposite that of vy =i — 275 3k

SECTION-1I

NOTE: Attempt any three questions. 3x10=30
dy . 1-+#2 24
S5.(a Provethat y—+x=0 il x=——, y &
= Y x 1+ ¢ P8
2z ~Jx+7
X+ 35 \/r + .,
Bl
b)) If f(x)= find value of K so that f is continuous at x = 2
K s =2

6.(2)  Determine value of,p such'¥hat the lines 2x -3y ~1=0, 3x ~y-5=0and 3x +py +8= 0
meet at a point.

{(b)  Evaluate }-x3 e% dx

2
7. (a)  Evaluate j(x + \xl) dx
=

(b) Minimize z =2x + y; subject to the constraints x+ y=3; 7x+5y <35 x20, y20

8.(a) Show that the circles x>+ y*+2x -2y -7 =0 and x2+ y*— 6x + 4y + 9 = 0 touch externally.

(b) A force of magnitude 6 units acting parallel to 2{ — 2j + &, displaces, the point of application from
(1,2,3) to (5,3,7). Find work done.

9.(a) A box with a square base and open top is to have a volume of 4 cubic dm . Find the dimensions of
the box which will require the least material.

(b)  Find the centre, foci and vertices of the following 9x2—12x - y* =2y +2=0
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The perimeter P of a square as a function of its area 4 is:
(A) P=+4 (B) P =2J4 (C) P =3J4 (D) P =44
x-3 1 1
ity e A) 3 B) 243 B ae )~
@ Jim-E— ) ®) © % =
d = -3
() If 3x+4y-5=0,then & = WY ®Y ©Y O
d 1 cosec’x —cosec’x 2cosec’x
4) . —(+cotx) = A) ——— B)———= () ——— D) —F/—=
) dx(\/:() 2 ) 2+/cot x ® 2+/cotx © 2 cot x Jeotx
1
(5) If f(x)=tan"'x, then f'(cotx)= (A)sin?x  (B)cos’x (C) sét™ (D) o
(6) di(—cotx) = (A) sec’x  (B) cosec’x (C) —geseeix (D) tan® x
X
(7) Jaxdxz (AYa*+c¢c @B a"+tna+c (Cya® -Cmagc (D)a -%+c
(8) The anti-derivative of 21 —— is:
(1+x")tan"" x
1 -
(A) fn(tan”' x) + ¢ B) (1 +x2)+c  AO)Ran" x)* +c¢ (D) 5(u,m 'x)? +¢
1| .
(9) Suitable substitution for solving j——— dx \is;
XA )C2 R az
(A) x =a sinf (B) x = o tdnf YC) & =:a secl (D) x = a cosd
7 1
(10) J'seczxazx e 0s) 0 (B) 1 () 2 ®) 3
0
(11y  If (3,5) is the mid-poift of (5,4 and (1,7), then a=___ (A3 (B)S (CO)7 (D)9
(12)  The point (3, —8) lie§in the quadrant.  (A)1%  (B)2Y (C) 3 (D)y4"
(13)  The lines £, andg¢¥y, Wwith'slopes m, and m, respectively, are parallel if:
(A) mym, =1 (B) m; =m, (C) mm, = -1 (D) my+my =0
(14)  The point42, 1) 1Swet in the solution of the inequality:
(A) 2x + %> B)2x+y=4 (O 2x+ y <3 (D)2x + y>1

(15) Ceatreofthécircle x? + y2 +7x =3y =0,is:

(A) (Th23) (B) (MV %) (©) (-7.3) (D) (%‘AJ

(16)  The equation of directrix of the parabola x*=5 y is

(A) x+ ¥ =0 (B) x - %, =0 © y+ ¥ =0 D) y-%=0
PLE
(17) The length of latus-rectum of hyperbola =3 = 55— =1 g
a
2 2 2 2
a b b 2b
A) — B) — C)— D) —
(A) % (B) = (®) ; (D) 3
(18) I u=2ai+ j= kand v=1i+ aj+ 4k, are perpendicular, then a =
-4 4 3
a) ~4 ®) % © ¥, (D) 4
(19)  The vectors u, vy and w are coplanar if:
(A) u-vxw=0 Byu-yxw=1 Cu-yxw=2 D)u-yxw=3
(20)  Work done by a constant force F during a displacement d is equal to:
(A) Fxd (B) d x F (C) F+d (D) F-d
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HEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question as A, B, C and D. The choice which you

think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.
(Q.No.1
2
(1) The length of latus-rectum of hyperbola — - b—z =148
a
oo 2 2 2
b* b* 2b
A) — G D) —
(J)Eb 2a ()a ()a
2) If wu=2ai+ j~-kand v=1i+aj+ 4k, are perpendicular, then a =
A ~% B % © ¥ (D) 4
(3)  The vectors u, v and w are coplanar if:
(A) u-vxw=0 B)u-yxw=1 (Qu-vxw=2 (Phy - vxw=3
(4)  Work done by a constant force I during a displacement d is equal to:
(A) Fxd (B) d x F (C) F+d (DWF - d
(5)  The perimeter P of a square as a function of its area A4 is:
(A) P=+J4 (B) P=2J4 (C) P=3J4 (D)P =44
x~-3 ; . ] 1
) lim ———— (A) V3 (B) 24/3 . (D) ——
x=34x - \/3 V3 243
; - d _ 4 \ 3 -
() If 3x+4y-5=0,then - = (A) A (B) A © ¥ (D) /
d Qoscc’x . —cosec’x 2cosec’x
(8) —(+veotx)= (A B) —— (0) ———— (D) ———
dx ) &N 2+{tot % 4 2+ cot x 2+/cot x Jeotx
1
(9) If f(x)=tan™' x, then ficotx]) = (A) gin“x (B) cos’x (C)sec’x (D) : 5
+ x
(10) ;i(COtX) = M) ste’ x  (B) cosec’x (C) —cosec’x (D) tan® x
Ix
: . ; 1
(11) Ja*dx= (Aya"sfe B)a*+/ina+c (C)a* - fna+c (D) ax-?m+c
'na
(12)  The anti-derivative gf 21 = 38
(I x7 )tan” x
. 1 E:
(A) fn(tan Lx) % & (B) fn(l + xz) ¢  (O)2(tan'x) +c (D) 5(tan ' + ¢
(13)  Suitabl&Sabstitution for solving j dx is:
A,'\fx = g
(AY x =asiné (B) x=atan8 (C) x =g secd (D) x = cos@
%% |
(14) jsecz B = (A) 0 (B) 1 (CF .2 (D) Fl
0
(15) If (3,5) isthe mid-point of (5, ¢) and (1,7), then a = (A)3 B)S ©7 (D)9
(16)  The point (3, —8) lies in the quadrant, (A1 B)2Y () 3 (D)4
(17)  Thelines #, and ¢, withslopes m; and m, respectively, are parallel if:
(A) mm, =1 (B) m; = m, (C) mym, =-1 D) m+m, =0
(18)  The point (2, 1) is not in the solution of the inequality:
(A) 2x + y >3 B)2x+y=>4 (C) 254+ ¥ L3 D)2x+y>1
(19)  Centre of the circle x* + y? + 7x — 3y =0, is:
(A) (7,-3) ® (%Y%) ©En3 o (%.-%)
(20)  The equation of directrix of the parabola x=5y is:
< < /
(A) x+ 3, =0 B) x= Y, =0 () y+ ¥, =0 D) y- %, =0
16(OhV 220210 AV-6000  (METTTAN)
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MARHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No eredit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
1
(1) J’a“'dx = (A)a*+c B)a"+tna+c (C)a*-tna+c (D) a* o + ¢
Fict
(2) The anti-derivative of __u%:l___i-. Is:
(1+x“)tan™" x
(A) fn(tan™ x) + ¢ By tn(l+x*)+e (@2 "'x) +¢ (D) -%{tan" x) +c
(3) Suitable substitution for solving J;—-—z——— dx is:
‘{'\ X - (12
(A v= gginl (B) x=utan@ (C) x =g sech (D %= a cosf
% :
(@) Jsecz % di = (A) 0 ®) 1 ©) 2 © 5
0
(5) If (3,5) is the mid-point of (35, @) and (L, 7), then aa= )N B)S5 O©7 D9
(6)  Thepoint (3, —8)liesinthe __ quadrant. A1* B)2Q @ 3¢ Dya"
(7)  Thelires £, and ¢, with slopes m, and m, respectively, are paralléMif:
(A) mm, =1 (B) m; = m, (C) mnmfl = (D) my+m, =0
(8) The point (2, 1) is not in the solution of the inequality:
(A 2x + y >3 By 2x+ y>4 (K 270 < 3 (D) 2x + y > 1
(9)  Centre of the circle x? + }2 + 7\ -3y=0,&:
A , F o
(A) (7,-3) ®) | A/) (M(~7,3) (D) (}2 AJ
(10)  The equation of directrix of the parabolal x* =Ny is:
(A)x+‘/4:0 (B}v—-/ 0 (©) y+ ¥, =0 ())VH/4
2
(11} The length of latus-rectum ofhyperbdta %— ~ -g—q =1, 1s:
a h*
4’ 2
b’ b? 2b*
(&) = (BJ = (C) — (D) —
20 a
(12)  If u=2ci+ j-Kagd v=1+ @ j + 4k, are per pc,ndlcu ar, then @ =

(A) —% ®) A © ¥ (D) 4

(13)  The vegtorsu dand w are coplanar if:

(A) u-vxWe=0 B)u-vxw=1 Qu-yxw=2 Dyu-yxw=3
(14)  Work done by a constant force / during a displacement d is equal to: )
(A) F'xd (B) d x I (C) F +d (D) F-d
(15)  The perimeter P of a square as a function of its area A is: ~
(A) P=+4 (B) P =24 (C) P=3J4 (D) P =44
(T6)  Tim s (A) V3 (B) 243 (c) D) ===
x—=3 A \‘G 2\-3
S+ 4y 5 = dy _ y 4 =3
(17) If 3x+4y—5=0, ther = NS A (B) / (€) / (D)
d , —— 1 cosec’x . —cosec’x 2cosec )L
(18 e cotxy )= A T B T ((,J (D) e
) a’x(v ) o 2+/cot x ®) 2+/cot x 7\ﬂ,otx wcot X
(19)  If f(x)=tan"'x, then f'(cotx)= (A) sinx  (B) cos’x  (C) sec’ x (D) l_
+
(20) ;l{—cmx) = (A) sec’x  (B) cosec’x  (C) —cosec’x (D) tan’x
X
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A E T — 4198 INTERMEDIATE PART-II (12" CLASS) A
THEMATICS PAPER-II TIME ALLOWED: 30 Minutes
GROUP-II OBJECTIVE  MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credit will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

Q.No.1
(1) i(m) 3 (A) 1 ®B) cosec’x ©) —cosec’x D) 2cosec’x
dx - 24Jcotx 2 cotx 2ot x Jeotx
1
(2 If f(x)=tan"' x, then f'(cotx)= (A) sin®x  (B) cos’x  (C) sec’x (D) P
+ x
(3) %(—cotx) = (A) sec’x  (B) cosec’x (C) —cosec’x (D) tan” x
1
4) Iaxck= (Aya*+c @Bya " +ina+c (C)a”-fna+c (D) ax-r+c
na
(5) The anti-derivative of 21 is:
(1+x*)tan™' x
1 o
(A) n(tan™ x) + ¢ (B) fn(1+ x*) +¢ (C) 2(tan"" x)* + ¢ B) E(tan lx)2 +c
_ 1
(6)  Suitable substitution for solving J-——ﬁ dx is:
xjx? =@
(A) x =a sind (B) x=a tan@ (C) x = a secl (D) x = a cos@
2 1
G Jsecz ok = (A) 0 B). 1 ©) 2 ® 5
¢
(8) If (3,5) is the mid-point of (5, @) and ff, 7)¢ thén @=_ (A3 (B)S (©)7 (D)9
(9) Thepoint (3, —8)liesinthe  quadrahff WA @®)2" (©) 3¢ @©)4"
(10) Thelines £, and £, withslopes m, afid myrespectively, are parallel if:
(A) mm, =1 (B) m, ="y (C) mym, = -1 (D) m+my; =0
(11) The point (2, 1) is not in the soletion of'the inequality:
(A)2x+y>3 (BY26+ = 4 (C)2x+y<3 D) 2x+y>1

(12)  Centre of the circle P+ R+ Tx By =0, is:
X

(&) (7,-3) ® (-7%.%)  © 19 o (%.-%)

(13) The equation of direéctrixeof the parabola xt=5y is:

(A) x + Y= 0 B) x— %, =0 © y+3,=0 D) y- ¥ =0
2 8
(14)  The length of latus-rectum of hyperbola x_2 - y_2 =1, i
a :
2 2 2 2
a b b 2b
A) — B) — C — D) —
(A) > (B) 7 ©) ; D) ’
(15) If u=2ai+j-kand v=i+aj+4k, are perpendicular, then « =
_4 4 3/
») % ®) % © % (D) 4
(16) The vectors u, v and w are coplanar ift
(A) u-vxw=0 B)u-yxw=1 (CQu-yxw=2 D) u-vxw=3
(17) Work done by a constant force F during a displacement d is equal to:
(A) Fxd (B)d x F (C) F+d (D) F-d
(18)  The perimeter P of a square as a function of its area A is:
(A) P =4 (B) P =24 (C) P=3J4 (D) P =44
x-3 1 |
(9] Tim e (A) 3 (B) 24/3 ) e D) ——
x—3 .\/i - \/-3 \/—5 ( 2J§

. dy - o
(20) If 3x+4y~5=0, then = = ») 4% ®)~%  (© ¥ o~
16(Obj)( Ve TETOT)-2021(A)-6000 (MULTAN)
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